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N = 0] &F AF S & AN A
20148 = 20l A LBt H DY A& Dt
2 JIEXE D
HHM: SAIGEE
e SA0|Y ™ UG H (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
J X &t 7,299,773 4,668,232 2,631,541
= 1,022,123
= 153,222
= 245,526
Al 5,878,902
SAINHEE 2,445,220 275,220 2,170,000
= 7,500
Al 2,437,720
A0 B 2SI 295,220 275,220 20,000
= 7,500
Al 287,720
SAIY FHE H2 X 20,000 120,000 A 100,000
403 XX SHH S X201 A 20,000 40,000 A 20,000
02 BSOS ALS 20,000 40,000 A 20,000
O/FZ2(ZEAIIYHE 0 AEE) 24
0,000,000 14! 20,000
I ACIXQ DR X & 35,220 35,220 0
402 SI2FXHE0| ™ 35,220 35,220 0
01 QI2tXE8 X 35,220 35,220 0]
OsAJIYg +HE CX HE X &
35,220,000 14! 35,220
LLEZ20HS ASSoe 25,000 0 25,000
= 7,500
Al 17,500
307 QI2t0| ™ 25,000 0 25,000
= 7,500
Al 17,500
02 A2tAMNEXZ 25,000 0 25,000
O2=Z20F ASSHY X
25,000,000 x1A! 25,000
= 7,500
Al 17,500
FHoIgt =4 30,000 15,000 15,000
307 gizto| & 30,000 15,000 15,000
02 It A X2 30,000 15,000 15,000
Ootist HHsotel Xl 15,000,000 * 14l 15,000
OzdEsdH 28 X 15,000, 000& * 14! 15,000
Aejgnaexrza N 102,000 102,000 0
402 SI2FXHE0| M 102,000 102,000 0
01 QI2t X2 X 102,000 102,000 0
OXglyg D2EE(HERE FRE M)XK
| B2x3 102,000,000 = 14! 102,000
S|P NE 45 3,000 3,000 0
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M SAIYES
Sl ZA0IY M AN (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
307 glz2tol & 3,000 3,000 0
04 QIZtHAIE XS 3,000 3,000 0
O3 8813 HegUsl
3,000,000 » 14! 3,000
SAIY A2Es =2 & 80,000 0 80,000
402 RI2FX=201 M 80,000 0 80,000
01 RIZEAI=2E X 80,000 0 80,000
OEAJIY NB2E £48 N
2,000,000& *407H At 80,000
SURE JIE"X & 2,150,000 0 2,150,000
oldIIY K& BX 2,150,000 0 2,150,000
402 RI2EXt20| ™ 2,150,000 0 2,150,000
01 222 E X 2,150,000 0 2,150,000
O0l&Jlg X3yl 2,150,000,000& 14 2,150,000
sa0d 3ESXA 1,492,000 1,404,000 88,000
SN EsLEN=NE 1,492,000 1,404,000 88,000
SaJgsEN=s A& 1,492,000 1,404,000 88,000
306 ¢ 2 992,000 904,000 88,000
01 &3 992,000 904,000 88,000
O3 2t 4014012 &4
992,000,000 =14 992,000
307 21201 A 500,000 500,000 0
08 OIXtEH 3 500,000 500,000 0
OsAJIgEL8I=3 0IXEH
500,000,000 =14 500,000
HARANES 210,600 208,600 2,000
=28 LS 210,600 208,600 2,000
HelAIE B2 =Y 200,600 123,600 77,000
201 Lt 2,000 0 2,000
03 &Ar2 I 2,000 0 2,000
OGTIZHZ S RAFA S22 29
2,000,000 » 14! 2,000
202 o4dl 3,600 3,600 0
01 = LH o4 1l 3,600 3,600 0
O=&=XNA ALY =AY 300,000 122 3,600
403 XIS E X201 & 195,000 0 195,000
02 S| 2SO0 CHSHCHEH AL B 195,000 0 195,000
Ol RHAEE ItA 40,000,000& =23l 80,000




2 JIEXE D
=L
el +EFMAYs (sl &2)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
OHAMEEAIZ HIXHA
4,000,000 1074 At 40,000
OHAKXIAFSH AFS K& 2,000,000 =100 At 20,000
OF=s282 XNIANY 10,000, 000 = 1Al 10,000
OHAMELE XA 1,000,000 =100 At 10,000
QoA = =ZHl XNSALS 2,000,000 =100 At 20,000
O%x==J1g ilA0AHEY &=l =l NS
1,000, 000& 1570 Ak 15,000
228 2ENMII LHAIS 10,000 10,000 0
306 23 10,000 10,000 0
01 52 10,000 10,000 0
O2z2Y RANMII dHAIY
10,000,000 * 14l 10,000
L A2 A = 770,519 642,873 127,646
o 26,000
Al 744 519
S AL A& 770,519 642,873 127,646
o 26,000
Al 744 519
22X AFD| & E 15,000 15,000 0
301 et A= 1,000 1,000 0
11 J|EtE A= 1,000 1,000 0]
OZ2Z2 Y 2EIAZ X Al A 50,000& *20¢Q! 1,000
307 2Iz2t0| & 14,000 14,000 0
02 It A X2 11,000 11,000 0
OLsHHM M=U3 5,000,000 » 1Al 5,000
O A XT3 3,000,000 x14! 3,000
OLA2HE ZoU3 3,000,000 » 14!l 3,000
04 QIZISHALE X 2 3,000 3,000 0
OZZ XY AL 3,000,000 =14l 3,000
S AFZEH OHA 16,000 6,000 10,000
301 et A= 6,000 6,000 0
09 HAIAHIBEAZ 6,000 6,000 0
OL=x2te N84 100, 000& 600! 6,000
307 2Iz2to| A 10,000 0 10,000
02 It A X2 10,000 0 10,000
O2=z&d Ad&8XAS K& 10,000,000 =14 10,000
LEAYdAs 2N 50,000 44,000 6,000
= 22,000
Al 28,000
307 giztol A 50,000 44,000 6,000
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= 22,000
Al 28,000
02 0I2tFAE L= 50,000 44,000 6,000
OkLsadEAs 2EEX 50,000,000& =14 50,000
= 22,000
Al 28,000
SAE stotE M=U3 8,000 8,000 0
= 4,000
Al 4,000
307 212t0| & 8,000 8,000 0
= 4,000
Al 4,000
02 A2t AMEXS 8,000 8,000 0
O MDA StOISHEUS K&
8,000,000& *14] 8,000
= 4,000
Al 4,000
DEHIAZX AE=X& 20,000 20,000 0
301 dBtE A= 5,000 5,000 0
09 HAIAHI EA = 5,000 5,000 0
OEXAMER REI2Z X AL A
5,000,000& *14] 5,000
307 212t0| & 15,000 15,000 0
02 DI2tFAE = 15,000 15,000 0
ORYEIZZXN =WHHS 500, 000& 302! 15,000
22 NS A2 22 602,529 517,383 85, 146
101 2124 d| 82,254 0 82,254
04 JIZtHI2E2EXNSE 82,254 0 82,254
OZ2zAsE=EN2 FA22 X 22| 82,254
>II=23 47,4003 3021 %249} 35,408
>DEELE 47,4003 #3091 x52Z= 7,395
> a3 47 ,400& #3001 %2492 x4 /12 11,803
>y HZAH| 130,000& #3021 x12& 4,680
> s8R 120, 000& x321 x12& 4,320
DA 47,4003 #3021 12 1,707
=Rl e = 47,400 321 x 10 *150% 2,133
DAHAUABEE 67,445,000& *2.945% 1,987
DAJQABEZ 1,987,000 *6.55% 131
D=ROUAZIEEES 67,445,000& x4 .5% 3,036
PNEYEE 67,445,000 *x1.5% 1,012
DMEE S 67,445,000 *3. 1% 2,091
DEXNZH Y= 67,444,200 «1/12& 5,621
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M CAMNE2FEE
St

& T AtstE K& (&)
SA - FE - BI(EA) - NRAY - By 0l &t San DS
DEAZZX LSH (S8, 85, €&=)
310,000& »32! 930
201 L4l 502,075 408,783 93,292
01 AFR 22l 69,410 73,876 A 4,466
O1 Ler==&H| 58,854
PSS EN2 2 =4l
500,000& 12 6,000
DAYS0E 16,0003 58t A %123 960
DAY BEMSE(1004 )
2,590 «50& 128 1,554
DA M U HASE(ENL 208)
900,000& =128 10,800
D3RIIE 7Y 400& =1,0000H 400
DHESX 2 90,000 »2¢t A 180
DOHEA T2 SXNE2 150,0008 128 1,800
S=2AA%E #Y 1,000, 0003 * 14! 1,000
DAUENE FHY YUY =2
5,000,000& *2.5/100%12& 13,500
DUYELXUA ME(10H11&) 5009 +1,000% 500
DAEEI} =2 400,000& *42] 1,600
DAty & 222 e 3|
300,000& =12 3,600
DS2AINELE =2 (FI,=A)
150,000& »1CHx123] 1,800
DOtA HIIEE =2 800,000& 12 800
D &It 2el ==F (HI|,=Al)
800,000& =122 9,600
DAE HHASE =2 150,000& *123] 1,800
DESFETEL =2 2,500,000 14! 2,500
DEYY AHEAMN =2
230,000 »20H * 12 460
O4 1lstl 500
DOtUHOI AT 22T 285 250,000& #2921 500
O5 2&Hl 7,056
DOt 522 R 7,000 <621 x142] «12& 7,056
06 gtz 3,000
DESI Y= 50,000 =501 x 12 3,000
02 =24l 432,665 334,907 97,758
O1 3323 ¥ HMA 170,140
DTV R AEE 6,000& «20CH x122 1,440
DOIHYW A2 30,000& «5CH =122 1,800
PussY 2FE= 1,500, 000& 13l 1,500
DEFd RE= 1,000, 000& 23! 2,000
DEIRS 6,500,000 128 78,000




A B8 e2(3) - HRAY - BES il 2
DAaSHEERZ 7,100,000& 123 85,200
DAYOMESIH (Y2 Xt. . AE S22

100,000& * 12l 100
>&Ierd 22| A ¥ & 3| 100,000& * 13l 100
O2 ¢d=l 214,125
PItARZE 17,500, 000& =128 210,000
DAHSS () 1,356 *BAl 2 *722 4 CH 3,125
DA (HALANIE) 1,000,000& 14 1,000
O3 A& & Hl |Xibl 48,400
P2 RLE M2 3,000,000& = 1CH 3,000
DEget Y SwEI| M2 3,000,000 *2CH 6,000
>PESEJEH WX 2el 1,000,000 »1CH 1,000
DZENSESAE 2AESH
20,000,000& =14 20,000
D293 HAaH 1,200,000& »23] 2,400
DI FA Y A2
10,000, 000& 14! 10,000
DAS SHIA 9 6,000, 000& 1Al 6,000
202 odl 7,200 7,200 0
01 = LH o4 1l 7,200 7,200 0
OZ22=RX 2F& ol 600,000 »12& 7,200
206 M=t 11,000 11,000 0
01 =8l 11,000 11,000 0
OZ2zXEgsi& MHEl 11,000
D& SA, AR H2HED S
1,000,000& 14 1,000
D=L EH, 2SS S
3,000,000& » 14! 3,000
DaMel 223 (&)Y 6,000,000 » 14! 6,000
DaMUE 9 M| S 1,000,000& 14 1,000
9 LARE g9 g4d3st 58,990 32,490 26,500
201 LBH2E| 4,990 5,490 A 500
01 At 22l 4,990 5,490 A 500
O1 get==2Hl 1,000
D AEE 2YEHASE EAE M
500,000 *20H 2 1,000
O3 2d==¢ 3,990
DEMEES Y AREYS FAF
70,0003 «1921+33] 3,990
307 glz2tol & 54,000 27,000 27,000
02 RIZHEANEXS 54,000 27,000 27,000
Ok Atatg SHAIHZE &3 20,000,000 1A 20,000
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M CAMNE2FEE
Sl L AEHE XIE EERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
O:LME E4d3 AAS 29,000,000& =14 29,000
OBEMAHA % IBOUE AEIY
0 | 5,000
AsX L3 46,750 62,020 215,270
AENRX &S 46,750 62,020 A 15,270
HEXNRX &3 46,750 62,020 A 15,270
201 L2l 26,550 23,820 2,730
01 At 22l 26,550 23,820 2,730
O1 get==EH| 14,200
DIIE=X 88 10,000, 000& 14! 10,000
DIlgaEdEE 350,000& 128 4,200
O3 2d=¢ 12,350
DENSXIS S
4,160
DEUNRX NI
8,190
202 O4dl 10,200 10,200 0
01 = LH 4 Hi 10,200 10,200 0
OJIgsX 850,000& »12& 10,200
301 et a s 10,000 20,000 A 10,000
IARPAS = = 10,000 20,000 A 10,000
OJIg =X 1,000,000& =102/ 10,000
NEFX Y oHF 1,193,930 1,192,668 1,262
= 294,834
= 153,222
< 160,040
Al 585,834
I3 &R 84,000 84,000 0
< 30,000
Al 54,000
el HgeeEs 18,000 18,000 0
201 Let24d] 18,000 18,000 0
03 &Ar2 Gl 18,000 18,000 0
OxFgers 1,500,000& »123] 18,000
Hegdblwnye 29 6,000 6,000 0
201 Let49] 6,000 6,000 0
01 At 22l 6,000 6,000 0
O1 Let==ZH| 2,000
DHAUE A 2 500,000& *43| 2,000
O3 2d=¢ 4,000
DU WA A 1,000, 000& *43| 4,000
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08T JIEM AEX A 60,000 60,000 0
30,000
30,000

MHH

= M

307 21201 & 60,000 60,000 0

30,000
30,000

= M

= 60,000 60,000 0
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O=-1gX JIgH HAXH Ared
60,000, 0003 » 14!

60,000

30,000
30,000

= M

2 xtel EE 589,668 450,272 139,396
294,834

88,450
206,384

= N W
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o
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W

589,668 444,272 145,396
294,834

88,450
206,384

= N H

101 1Al 521,428 406,592 114,836
260,714
78,214
182,500

= N H

04 JI2ZtHNZ22 s+ 521,428 406,592 114,836
OXNESSH LXelA 521,428,000& = 14! 521,428
260,714

78,214
182,500

= mnH

202 o4 Hl 10,240 7,680 2,560
5,120
,536
3,584

= HnH

01 SLHO I 10,240 7,680 2,560
OXNSESSH LXelAg =& 044l
10,240, 000& * 14! 10,240

5,120
,536
3,584

Z W

206 M= 4l 58,000 30,000 28,000
29,000

8,700
20,300

= MW

01 M= dl 58,000 30,000 28,000

OXNdEsH LAelAtY =& HEZHl

58,000, 000& * 14! 58,000
29,000
8,700
20,300

= HnH
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A0 520,262 538,175 A17,913
= 163,222
< 41,590
Al 325,450
S322AME 234l 421,262 440,175 A 18,913
= 163,222
< 34,190
Al 233,850
101 @144 dl 416,222 435,135 A 18,913
= 153,222
S 34,190
Al 228,810
04 D122 2XREES 416,222 435,135 A 18,913
O3322AY 416,222,000 * 1Al 416,222
= 153,222
< 34,190
Al 228,810
201 Let2d]| 1,200 1,200 0
01 At 2teltl 1,200 1,200 0
O1 et=2Hl 1,200
DES2ZAY =& 100,000& »12& 1,200
202 044l 3,840 3,840 0
01 SLHOYI 3,840 3,840 0
OZ3222AMgY NE&EH 320,000& 128 3,840
LT RNFHEHSH 39,000 38,000 1,000
< 7,400
Al 31,600
101 @124l 37,000 36,000 1,000
= 7,400
Al 29,600
04 JIZHHZ2Z2XNESE S 37,000 36,000 1,000
Ol X3 HE e A
3,700,000& +10& 37,000
< 7,400
Al 29,600
301 LA Z 2,000 2,000 0
09 EAEHIE &S 2,000 2,000 0
Ogiel2d ns & 39 5 A
,000, 0003 =14 2,000
HetdAEesXRAY 60,000 60,000 0
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02 P AEXS 60,000 60,000 0
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30,000,000& x23| 60,000
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L= B

el

k=PI
W

WEAHAH X =

SA - BB B () - MM - BES Ol &t o San HmEET
HEAHHKI = 40,000 40,000 0
AA SR KR 40,000 40,000 0
701 JIEtl AN &= 40,000 40,000 0
01 JIEtel HE &= 40,000 40,000 0
OugetXl 22l (sSAR2=dL 2e/AY
SYsH 8&3) 40,000,000& =14 40,000
HH2F A 120,475 117,224 3,251
IHE2EHI (I X&) 74,865 69,945 4,920
lEAIEHI (I X&) 74,865 69,945 4,920
101 1A Hl 74,865 69,945 4,920
01 B 74,865 69,945 4,920
OAZt 28+ 8,7543 x1821%x300A| 2t 47,272
OZZ2AEEg=A2 27,593
DA 2R 8,754 x401x788A| 2t 27,593
Jl2Z8l (Ol X&) 45,610 47,279 A 1,669
Jl2Zd8 (01 X&) 45,610 47,279 A 1,669
201 Let24d] 21,010 22,679 A 1,669
01 At 22l 16,085 15,749 336
O1 gt=2Hl 13,397
PEMN2I+=EH 13,397,000& =14 13,397
O5 =&l 2,688
DOt 522 R 7,000 x1621 23| x 128 2,688
02 2324l 4,925 6,930 A 2,005
O1 3322 € HA 4,925
DRERS 1,900 21624 122 4,925
202 oddl 20,400 20,400 0
01 = LH o4 1l 20,400 20,400 0
OJleg =80l 1,700,000& =122 20,400
203 YR =&t 4,200 4,200 0
04 FEANSEHE=LH 4,200 4,200 0
ORN2EYRF=AHI 350,000 = 12& 4,200




